Hydrogen Point farthest from the line is at 9.5:

1.0212
1.2 '
% - *arbitrary systematic = 0.025 Therefore systematic = 0.042
Q% i
S 1.1
L Hydrogen
B <1.2
B g [
1 % 0
— b'.1.)-1-1_ ..............................
- y =0.97898 +/- 0.00761 -
0.9— 1:—
: 09_ i
0.8— -
: 0.8: ..............................
0.7~ =H(e,e’p) -
B ::::systematlc error 0_7_ ..............................
06I_II|IIII|IIII|IIII|IIII|IIII|IIII|IIII 06I:ll|IIIl||||l|l||I||||||||||||||||||||
' 8 9 10 11 12 13 14 ' 8 9 10 11 12 13

14
Q?[GeV/c] Q2 [GeVI/c]



GeXP/ Opwia
o
o)

o
©

0.6

0.5

0.4

0.3

0.2

0.1

Carbon

uC(e,e’'p)

T
e

e SYStEMAtic error

rlatets

|
8 9 10 11 12 13 14
Q?[GeV/c]

Systematic = 0.0263



Spreadsheet is here:
https://docs.google.com/spreadsheets/d/1fro8a4KaVXGPJt7qR7JXoSicQZM_kh8ilng_zZAS7bs/edit?usp=sharing
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Summary table and questions:

ratio stat uncertainty factor:
1.018603479 0.01022857181
0.90373941AZ..0.00007513445

Why so low?
0.3425725858 0.04249089975
0.2814661959 0.0349115849
0.325168689 0.04033221204 /0.2039458018
0.9303495844 0.01475259339

0.813096992 0.01289331398

0.8830845411 0.01400310956 \ 0.5538706242

1.100668532 0.01699177742

g S 0.0147388284¢€

N.02529636339
Why so

different?
/008782750317

/]

0.01932290085 Whvy so
0.01708767505 .
0.01850347122 d lfferenf?
0.02236322969
8606 0.01971035239
0.9074347948 0.02079610281 0.5691431033 0.01304331568
0.9055716148 0.02058649051
0.7873856981 0.01789975297
0.84211273 0.0191438705 0.5281731043 0.01200703558
1.105902476 0.02924481052
0.950900323 0.02514588796
1.010510734 0.02672224322
0.9952930882 0.03048403038

0.6272 systematic:

0.042
0.0263424
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Why so low?

0.513857651

0.5793813614

nxf

217.3617864

135.5752386

0.5371948629 0.02095796768



